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�
����������

�
���	�
���
������������ (Uniform phantom)

���������	
��
������
�������  
1.1 �����������������	����������������
 �������������� (Uniform phantom) �����������������	�� (� �!�" 12 ��� � �!�" 13) !�"

#�$����!��������$���
� ���������	
���
�%��&��	����!�"���
����� 1 '(��$'��� ��$'
)���
����'���� '����
 2 � ��	
�&�� '����
�	
����������*����$� (plastic terminal) �����
�!�"�����
�������� !�"���
����� 3 �$��$'��� �
��� � 25 '(��$'��� '�	�#���+ ��,���� 20 '(��$'��� � �!�" 
14 �������-
"����#���������� �$�'�$�������, (nickel chloride) 10 �$��$�����, ����('����
������, (sodium chloride) 75 �$��$�����, �����
������� T1 ��� T2 ����������� (model 

phantom) ����!�"�������.��������������� ���� ���������������!�"��	��'��/�

�
 �

������ 12 � ����������������	������������������� ���������	
���
�%��&��	���������
� 
�������������!�"���
����� 3 �$��$'��� �
��� � 25 '(��$'���'�	�#��+ ��,���� 20 '(��$'������
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�
�

������ 13 � ������������
�%��&��	��������������������� !�"���
����� 1 '(��$'����������
'���� '����
 2 � ����&�� '����
�	
����������*����$��

������ 14 �
��������#���������� �����
������������������������ �����������������!�" 
��	��'��/� 
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1.2 �������
)��$��)���.���������'*�"������.���������������
0��.���������������������	
��������� �$�'�$�������, (nickel chloride) 10 �$��$�����,

����('����������, (sodium chloride) 75 �$��$�����, (1"������ T1 '2��"�'!���
� 196 �$��$
$��!�
������ T2 '2��"�'!���
� 145 �$��$
$��!�

1.2.1 �������
)�������� 10 �$��$�����, ��� �$�'�$�������,

1) �������� 1000 �$��$�$�� �� NiCl2 0.01    ���
�������� 2000 �$��$�$�� �� NiCl2 (0.01x2000)/1000  

        = 0.02    ���

2) '���
������������ NiCl2•6H2O  =(58.69)+(35.45x2)+(18x6) 

       = 237.59  ��
�/���

3) NiCl2•6H2O 1 ���   = 237.59   ��
�
    NiCl2•6H2O 0.02 ���   = (237.59 x 0.02)/1  ��
�
       = 4.7542   ��
�

1.2.2 �������
)�������� 75 �$��$�����, ����('����������,

1) �������� 1000 �$��$�$�� �� NaCl 0.075    ���
�������� 2000 �$��$�$�� �� NaCl (0.075x2000)/1000  

        = 0.15    ���

2) '���
������������ NaCl     
        = (22.98) + (35.45)  
       = 58.43        ��
�/���

3) NaCl  1 ���   = 58.43   ��
�
    NaCl  0.02 ���    = (58.43 x 0.15)/1  ��
�
       = 8.764   ��
�
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����������
�

���������	���
������������ (Uniform phantom) ���������� 3 � !��
 

���������	
��
������
�������
�����
������� T1 ������ T2 �������������������!�������
���� �
������

�������� 

��
�������.�� �!�" 15 ���� �!�" 16 ��� �����
������� T1 ������3&����3���
�������
��'�	�
����
44�).�0�* (signal intensity) �
�-�
�'
��!�"'�$����*�$���
�����
44�) (Inversion

time ���� TI) !
�� 12 ��� ��������
������� T2 ������3&����3���
�������
��'�	�����
44�)
.�0�* (signal intensity) �
�-�
�'
��!�"!����������	���'�$�'���� (Echo time ���� TE) !
�� 8 
��� (1"�����
����!
��.��������������� ��� ���������������$5
!3&�$��,

������ 15 ���3�����
���
�*
�6,���
�������
��'�	�����
44�).�0�* (signal intensity) �
����
-�
�'
��!�"'�$����*�$���
�����
44�) (Inversion time ���� TI) !
�� 12 ���'*�"������ T1 ���
�����������

����� (model phantom) ������������������$5
!3&�$��, (philips phantom) 
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������ 16 ���3�����
���
�*
�6,���
�������
��'�	�����
44�).�0�* (signal intensity) �
����
'���� (TE) !
�� 8 ��� '*�"������ T2 ��������������

����� (model phantom) ����������������
��$5
!3&�$��, (philips phantom) 

�����
�����
�����

������ T1 ������ T2 .��������������� ��!��'�7�����'
�� 3 '����
����!�"������������������� ��.-	.������
������)0�*'���"��'�/����,��.����
$�
���� (1"���� T1 ���
��� T2 !�"

���	�������'�����'!����
���� T1 ��� T2 !�"

���	������������������$5
!3&�$��, (philips 

phantom) ���'!���'��������������8�����������'�'�*�'�/�'��!�" 34 (AAPM Report No.34) 

������ T1, T2 �������������'�(����, (ACR phantom) �
�����.������!�" 13 �����'�/�
�����   T1

������ T2 ����������������� ���
����!�"������!�"

���	�� �.�-�
��������8�����������'�'�*�'�/� 
'��!�" 34 ������'
��!�"!�������
����
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�������� 14 ����-�
���� T1 ��� T2 ����8����� ������'�'�*�'�/�'��!�" 34 (AAPM Report 

No.34) ��� T1 ��� T2 �������������'�(����, (ACR phantom) ��� T1 ��� T2 ����������������
��$5
!3&�$��, (philips phantom) ��� T1 ��� T2 ��������������

����� (model phantom) ��� T1

��� T2 �����������������.�-�
�����'
�� 3 '����



�/'����/�9 T2 (�$��$
$��!�) T1 (�$��$
$��!�) -�$��������������
 100- 200 50- 400 ������'�'�*�'�/�'��!�" 34

 150 150 ����������'�(����,
10/6/52 143.8 299.6 ���������������$5
!3&�$��,
10/6/52 148.5 140.2 �����������

�����
13/7/52 141.5 184.2 ��������������
16/8/52 142.7 185.7 ��������������
18/8/52 143.8 185.9 ��������������
20/8/52 147.3 187.7 ��������������
22/8/52 146.8 187.2 ��������������
���'2��"� 145 196 �������������� 
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�
����������

�
�����"	 ���� T2* ����# $ 
����
��������������%�����%
��#�� 7 ��#�� ������

���&"���������%���������	��%"%����'���#� 7 �� #�

1.1 ������������ T2* !�"

���	�������������'��.�������
��'�	��	�!�"���
�����
����"��'��� 
����������'��/���
� (ppm) ������'���,'(/��,�
����"��'�����0�* (PIU) ���
�����: .����
��������������'���������
��

�������� 15� ������������ T2* !�"

���	�������������'��.�������
��'�	��	�!�"���
�����
��
��"��'�������������'��/���
� (ppm) ������'���,'(/��,�
����"��'�����0�* (PIU) ���
�
����:������������
��!�" 1
����
�����
��"��'������
�������'��/�
��
� 
(ppm) 

���'���,'(/��,
�
��
��"��'�����
0�* (PIU) 

��� T2* ������������
��!�" 1
0.2mg/g 0.4mg/g 0.6mg/g 0.8mg/g 1.0mg/g 1.4mg/g 1.7mg/g 2.0mg/g

0.37 97.40 50.73 45.70 31.41 27.83 20.32 13.19 10.52 10.21 

0.83 96.79 48.42 43.78 31.44 28.32 20.60 13.21 10.61 10.16 

0.85 96.49 49.14 44.03 31.65 28.80 20.44 13.24 10.50 10.11 

0.90 96.42 48.82 45.02 31.40 29.04 20.47 13.15 10.42 10.11 

1.00 89.05 35.11 43.30 31.25 28.54 20.43 13.17 10.48 10.12 

1.22 86.07 28.75 41.18 31.00 28.57 20.37 13.11 10.48 10.12 

1.25 78.70 22.47 44.07 31.05 28.47 20.47 13.23 10.41 10.13 

1.30 55.31 15.02 40.56 31.16 28.34 20.48 13.23 10.05 10.10 
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�������� 16� ������������ T2* !�"

���	�������������'��.�������
��'�	��	�!�"���
�����
��
��"��'�������������'��/���
� (ppm) ������'���,'(/��,�
����"��'�����0�* (PIU) ���
�
����:������������
��!�" 2
����
�����
��"��'������
�������'��/�
��
� 
(ppm) 

���'���,'(/��,
�
��
��"��'�����
0�* (PIU) 

��� T2* ������������
��!�" 2
0.2mg/g 0.4mg/g 0.6mg/g 0.8mg/g 1.0mg/g 1.4mg/g 1.7mg/g 2.0mg/g

0.37 97.40 50.73 45.70 31.41 27.83 20.32 13.19 10.52 10.21 

0.83 96.79 52.16 44.62 31.04 27.91 20.44 13.36 10.56 10.14 

0.85 96.49 51.17 43.15 31.51 27.54 20.23 13.24 10.51 10.09 

0.90 96.42 50.58 38.36 30.80 27.46 20.11 13.15 10.53 10.16 

1.00 89.05 50.13 39.21 31.26 27.57 20.45 13.28 10.57 10.21 

1.22 86.07 49.97 41.39 31.27 27.69 20.11 13.26 10.61 10.22 

1.25 78.70 48.49 41.37 31.20 27.60 19.98 13.29 10.56 10.26 

�������� 17� ������������ T2* !�"

���	�������������'��.�������
��'�	��	�!�"���
�����
��
��"��'�������������'��/���
� (ppm) ������'���,'(/��,�
����"��'�����0�* (PIU) ���
�
����:������������
��!�" 3

����
�����
��"��'������
�������'��/�
��
� 
(ppm) 

���'���,'(/��,
�
��
��"��'�����
0�* (PIU) 

��� T2* ������������
��!�" 3
0.2mg/g 0.4mg/g 0.6mg/g 0.8mg/g 1.0mg/g 1.4mg/g 1.7mg/g 2.0mg/g

0.37 97.40 50.73 45.70 31.41 27.83 20.32 13.19 10.52 10.21 

0.83 96.79 39.20 36.58 28.75 26.83 19.93 12.77 10.42 9.83 

0.85 96.49 38.92 35.57 27.87 26.75 20.01 12.90 10.50 9.82 

0.90 96.42 39.68 36.40 28.36 26.75 20.08 12.89 10.55 9.97 

1.00 89.05 37.99 30.51 20.22 25.61 19.90 12.89 10.42 9.89 

1.22 86.07 38.35 30.59 19.32 25.39 19.95 12.81 10.36 9.89 

1.25 78.70 43.64 44.62 20.67 28.14 20.14 12.94 10.41 9.88 

1.30 55.31 44.56 43.76 16.26 27.93 20.34 12.93 10.41 9.85 
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�������� 18� ������������ T2* !�"

���	�������������'��.�������
��'�	��	�!�"���
�����
��
��"��'�������������'��/���
� (ppm) ������'���,'(/��,�
����"��'�����0�* (PIU) ���
�
����:������������
��!�" 4

����
�����
��"��'������
�������'��/�
��
� 
(ppm) 

���'���,'(/��,
�
��
��"��'�����
0�* (PIU) 

��� T2* ������������
��!�" 4
0.2mg/g 0.4mg/g 0.6mg/g 0.8mg/g 1.0mg/g 1.4mg/g 1.7mg/g 2.0mg/g

0.37 97.40 50.73 45.70 31.41 27.83 20.32 13.19 10.52 10.21 

0.83 96.79 51.73 46.25 31.33 27.89 20.52 13.07 10.57 10.17 

0.85 96.49 49.91 45.19 27.74 26.54 19.95 12.92 10.50 9.84 

0.90 96.42 49.66 45.35 31.29 27.61 20.28 13.18 10.48 10.22 

1.00 89.05 50.99 45.04 28.49 23.99 20.50 13.13 10.66 10.14 

1.22 86.07 51.17 44.05 28.16 25.07 20.49 13.08 10.55 10.16 

1.25 78.70 52.24 46.46 27.19 13.46 12.22 13.55 10.43 10.16 

1.30 55.31 51.25 45.95 22.57 7.304 16.10 12.92 10.39 9.97 

�������� 19� ������������ T2* !�"

���	�������������'��.�������
��'�	��	�!�"���
�����
��
��"��'�������������'��/���
� (ppm) ������'���,'(/��,�
����"��'�����0�* (PIU) ���
�
����:������������
��!�" 5

����
�����
��"��'������
�������'��/�
��
� 
(ppm) 

���'���,'(/��,
�
��
��"��'�����
0�* (PIU) 

��� T2* ������������
��!�" 5
0.2mg/g 0.4mg/g 0.6mg/g 0.8mg/g 1.0mg/g 1.4mg/g 1.7mg/g 2.0mg/g

0.37 97.40 50.73 45.70 31.41 27.83 20.32 13.19 10.52 10.21 

0.83 96.79 51.17 45.55 31.44 28.43 20.15 13.12 10.51 10.12 

0.85 96.49 52.02 45.39 31.08 28.25 20.26 13.15 10.61 10.07 

0.90 96.42 51.12 45.49 31.04 28.59 20.12 13.11 10.50 10.08 

1.00 89.05 50.63 45.76 30.72 27.42 19.09 13.18 10.50 10.11 

1.22 86.07 51.54 45.31 30.49 26.65 18.54 13.04 10.54 10.05 

1.25 78.70 50.47 45.26 31.35 27.80 18.75 12.98 10.50 10.14 

1.30 55.31 51.94 45.70 31.33 28.03 19.32 13.03 10.56 10.06 
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�������� 20� ������������ T2* !�"

���	�������������'��.�������
��'�	��	�!�"���
�����
��
��"��'�������������'��/���
� (ppm) ������'���,'(/��,�
����"��'�����0�* (PIU) ���
�
����:������������
��!�" 6

����
�����
��"��'������
�������'��/�
��
� 
(ppm) 

���'���,'(/��,
�
��
��"��'�����
0�* (PIU) 

��� T2* ������������
��!�" 6
0.2mg/g 0.4mg/g 0.6mg/g 0.8mg/g 1.0mg/g 1.4mg/g 1.7mg/g 2.0mg/g

0.37 97.40 50.73 45.70 31.41 27.83 20.32 13.19 10.52 10.21 

0.83 96.79 46.83 46.88 31.62 28.65 20.66 12.99 10.59 10.14 

0.85 96.49 51.46 46.99 31.63 28.70 20.54 13.03 10.51 10.16 

0.90 96.42 50.15 46.53 31.74 28.50 20.35 12.91 10.57 10.18 

1.00 89.05 51.12 45.89 31.14 28.81 20.39 12.95 10.51 10.11 

1.22 86.07 51.54 45.33 30.74 26.75 18.17 13.10 10.57 10.10 

1.25 78.70 48.99 46.16 31.74 27.91 18.25 9.52 10.16 10.14 

�������� 21� ������������ T2* !�"

���	�������������'��.�������
��'�	��	�!�"���
�����
��
��"��'�������������'��/���
� (ppm) ������'���,'(/��,�
����"��'�����0�* (PIU) ���
�
����:������������
��!�" 7

����
�����
��"��'������
�������'��/�
��
� 
(ppm) 

���'���,'(/��,
�
��
��"��'�����
0�* (PIU) 

��� T2* ������������
��!�" 7
0.2mg/g 0.4mg/g 0.6mg/g 0.8mg/g 1.0mg/g 1.4mg/g 1.7mg/g 2.0mg/g

0.37 97.40 50.73 45.70 31.41 27.83 20.32 13.19 10.52 10.21 

0.83 96.79 48.87 45.45 31.77 28.59 20.50 13.29 10.55 10.09 

0.85 96.49 48.12 45.26 31.28 28.16 20.65 13.27 10.44 10.15 

0.90 96.42 49.06 45.24 31.54 28.30 20.51 13.14 10.29 10.14 

1.00 89.05 48.26 44.82 31.40 28.20 20.48 13.15 10.55 10.16 

1.22 86.07 48.87 45.31 31.31 28.24 20.45 13.18 10.50 10.09 

1.25 78.70 49.16 44.84 31.46 28.08 20.52 13.03 10.13 10.06 

1.30 55.31 47.11 45.28 31.19 27.93 19.77 11.04 4.51 9.99 
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�
����������

	��&��()��"��% MATLAB �*!�����������������
%�
+��*���!�����'%
���($�	����#�*���%&����(�#�� 3 "���*!���������� T1, T2 "�� T2*

1) ���$��,������� MATLAB '*�"����������
����"��'�������������'��/���
�  
(Magnetic field homogeneity) (������������	�
������������������	���� ���   
#+. ��. �*�
- ���
$��)*� 0��
$-��
���
$!�� �)��*!�,+����,+$�$��-*����� 
���
$!���
���$��) 

clear all

N= 15;

sc_slope=1.53455433455433;

sc_intercept=-3142;

one_pi=pi*1000;

TE1=11.5088996887207    ;

TE2=13.8099994659423    ;

dTE=TE2-TE1;

for n=1:N;

  tmp_img=dicomread(['TE1_',num2str(n)]);

  vol_1(:,:,n)=double(tmp_img(:,:)).*sc_slope+sc_intercept;

end;

for n=1:N;

  tmp_img=dicomread(['TE2_',num2str(n)]);

  vol_2(:,:,n)=double(tmp_img(:,:)).*sc_slope+sc_intercept;

end;

%----------------------------------------------------
%generate mask data
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%----------------------------------------------------

N=15;

for n=1:N;

 tmp_img=dicomread(['mag_',num2str(n)]);

 mag_3(:,:,n)=double(tmp_img(:,:));

end;
            %--------------------
            % ROI_80%
            %--------------------

show(squeeze(mag_3(:,:,2)));axis square;

hold on

[x,y] = ginput(1);

t = 0:pi/15:2*pi;

R0 = 80;

xi = R0*cos(t)+x;

yi = R0*sin(t)+y;

LineHandler = line(xi,yi,'LineWidth',1,'Color',[.8 0 0]);

            %--------------------
            % ROI_80%_volume
            %--------------------

roimask = poly2mask(xi,yi, size(mag_3(:,:,1),1),size(mag_3(:,:,1),2));

region = find(roimask);

for n=1:15

vol_mask(:,:,n)=double(roimask(:,:));

end
            %---------------------

figure,show(vol_mask(:,:,15));

%----------------------------------------------------
%load mask_data
%----------------------------------------------------
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dif_vol=(vol_2-vol_1).*vol_mask;

out_vol=dif_vol;

[x_res y_res] = size(squeeze(vol_mask(:,:,1)));

for n=1:N;

   for m=1:x_res;

    for p=1:y_res;

       if (dif_vol(m,p,n)>one_pi)

          out_vol(m,p,n)=dif_vol(m,p,n)-one_pi*2; 

       end;

       if (dif_vol(m,p,n)<-one_pi)

          out_vol(m,p,n)=one_pi*2+dif_vol(m,p,n); 

       end;

    end;

  end;

end;

out_vol=abs(out_vol./(2*pi*dTE*42.576*1.5));

roi_out_vol=out_vol(region);

mean_homogeneity=mean(roi_out_vol)

std_homogeneity=std(roi_out_vol)

max_homogeneity=max(roi_out_vol)

min_homogeneity=min(roi_out_vol)
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2) ���$��,������� MATLAB '*�"����������
����"��'������0�*  (Image uniformity)

clear all

p=dicomread('IM_0536');

pic=double(p);

figure,show(pic);

%-----------------------------------------------------------------
                % Max signal(MS) signal_10% ^^^^s2^^^^
%-----------------------------------------------------------------
show(pic);

hold on

[x,y] = ginput(1);

t = 0:pi/15:2*pi;

R0 = 10;

xi = R0*cos(t)+x;

yi = R0*sin(t)+y;

LineHandler = line(xi,yi,'LineWidth',1,'Color',[.8 0 0]);

            %---------------------
            % ROI_10%_volume
            %---------------------

roimask = poly2mask(xi,yi, size(pic(:,:,1),1),size(pic(:,:,1),2));

region = find(roimask);

for n=1:15

vol_mask(:,:,n)=double(roimask(:,:));

end
            %---------------------
            % mean_ROI_80%
            %---------------------

d3=dicomread('IM_0536');

d4=double(d3);

f2=vol_mask(:,:,1).*d4;
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figure,show(f2);

s2=mean(mean(vol_mask(:,:,1).*d4))

%-----------------------------------------------------------------
                % Min signal(NS)**s3***
%-----------------------------------------------------------------
show(pic);

hold on

[x,y] = ginput(1);

t = 0:pi/15:2*pi;

R0 = 10;

xi = R0*cos(t)+x;

yi = R0*sin(t)+y;

LineHandler = line(xi,yi,'LineWidth',1,'Color',[.8 0 0]);

            %---------------------
            % ROI_10%_volume
            %---------------------

roimask = poly2mask(xi,yi, size(pic(:,:,1),1),size(pic(:,:,1),2));

region = find(roimask);

for n=1:15

vol_mask(:,:,n)=double(roimask(:,:));

end
            %---------------------
            % mean_ROI_80%
            %---------------------

d5=dicomread('IM_0536');

d6=double(d5);

f3=vol_mask(:,:,1).*d6;

figure,show(f3);

s3=mean(mean(vol_mask(:,:,1).*d6))

%-----------------------------------------------------------------
                % MAX signal(MS)_Min signal(NS)
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%-----------------------------------------------------------------
MS = s2

NS = s3
%-----------------------------------------------------------------
                % Percent Image Uniformity (PIU)
%-----------------------------------------------------------------

min_uniform = NS

max_unifrom = MS

A1=max_unifrom - min_uniform

A2=max_unifrom + min_uniform

A3=A1/A2

            %---------------------
            % image unifromity
            %---------------------

im_uniformity = (1-(A3))*100 
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3) ���$��,������� MATLAB '*�"����������
�����
�����
44�)����
44�)���
� 
(signal-to-noise ratio)

�

clear all

p=dicomread('IM_0288');

pic=double(p);

figure,show(pic);

%-----------------------------------------------------------------
                % Mean signal(MS)_80% ^^^^s1^^^^
%-----------------------------------------------------------------
show(pic);

hold on

[x,y] = ginput(1);

t = 0:pi/15:2*pi;

R0 = 80;

xi = R0*cos(t)+x;

yi = R0*sin(t)+y;

LineHandler = line(xi,yi,'LineWidth',1,'Color',[.8 0 0]);

                % ROI_80%_volume

roimask = poly2mask(xi,yi, size(pic(:,:,1),1),size(pic(:,:,1),2));

region = find(roimask);

for n=1:15

vol_mask(:,:,n)=double(roimask(:,:));

end
                % mean_ROI_80%

d=dicomread('IM_0288');

d2=double(d);

f1=vol_mask(:,:,1).*d2;

figure,show(f1);
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s=mean(mean(vol_mask(:,:,1).*d2))

%-----------------------------------------------------------------
                % Noise signal(NS)_10% ^^^^s2^^^^
%-----------------------------------------------------------------
show(pic);

hold on

[x,y] = ginput(1);

t = 0:pi/15:2*pi;

R0 = 10;

xi = R0*cos(t)+x;

yi = R0*sin(t)+y;

LineHandler = line(xi,yi,'LineWidth',1,'Color',[.8 0 0]);

                % ROI_10%_volume

roimask = poly2mask(xi,yi, size(pic(:,:,1),1),size(pic(:,:,1),2));

region = find(roimask);

for n=1:15

vol_mask(:,:,n)=double(roimask(:,:));

end
                % mean_ROI_80%

d3=dicomread('IM_0288');

d4=double(d3);

f2=vol_mask(:,:,1).*d4;

figure,show(f2);

s2=mean(mean(vol_mask(:,:,1).*d2))

%-----------------------------------------------------------------
                % mean signal(MS)_noise sd(NS)
%-----------------------------------------------------------------

MS = s

NS = sqrt(s2)

%-----------------------------------------------------------------
                % Signal to noise ratio (SNR)
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%-----------------------------------------------------------------

SNR = MS/NS

%-----------------------------------------------------------------
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4) ���$��,������� MATLAB '*�"���������'
�����#���������� T1

 clear all
 %----------------------------------------------------

TR=[ 50 75 100 200 400 800 1200 2400 3600 4800  ];

sle=20;

slb=1;

nslices=sle-slb+1;

imdim=nslices;

for slnum = 1:nslices

  if slnum<10

     temp1=['IM_000',num2str(slnum)]; 

  else

     temp1=['IM_00',num2str(slnum)]; 

  end

     temp = dicomread(temp1);

     g = double(temp);

     ph(:,:,slnum)= g;

end

%----------------------------------------------------

show(squeeze(ph(:,:,2)));

BWI=roipoly;

bwi=double(BWI);

ki=sum(sum(bwi));

I1=zeros(1,sle);

for i=1:sle;

    imbw=bwi.*ph(:,:,i);

    I1(1,i)=sum(sum(imbw))/ki;
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end

I1

a=I1'
%----------------------------------------------------

cftool
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5) ���$��,������� MATLAB '*�"���������'
�����#���������� T2

 clear all
 %----------------------------------------------------

TE=[ 15 30 45 60 75 90 105 200  ];

sle=8;

slb=1;

nslices=sle-slb+1;

imdim=nslices;

for slnum = 1:nslices

  if slnum<10

     temp1=['IM_000',num2str(slnum)];

  else

     temp1=['IM_00',num2str(slnum)]; 

  end

     temp = dicomread(temp1);

     g = double(temp);

     ph(:,:,slnum)= g;

end

%----------------------------------------------------

show(squeeze(ph(:,:,2)));

BWI=roipoly;

bwi=double(BWI);

ki=sum(sum(bwi));

I1=zeros(1,sle);

for i=1:sle;

    imbw=bwi.*ph(:,:,i);

    I1(1,i)=sum(sum(imbw))/ki;
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end

I1

a=I1'

%----------------------------------------------------

cftool
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6) ���$��,������� MATLAB '*�"���������'
�����#���������� T2*

clear all 

 %----------------------------------------------------

TE=[ 1.9 5.1 8.4 11.7 14.9 18.2 21.5 24.7 ];

sle=8;

slb=1;

nslices=sle-slb+1;

imdim=nslices;

for slnum = 1:nslices

  if slnum<10

     temp1=['IM_000',num2str(slnum)]; 

  else

     temp1=['IM_00',num2str(slnum)]; 

  end

     temp = dicomread(temp1);

     g = double(temp);

     ph(:,:,slnum)= g;

end

%----------------------------------------------------
show(squeeze(ph(:,:,2)));axis square;

hold on

[x,y] = ginput(1);

t = 0:pi/15:2*pi;

R0 = 10;

xi = R0*cos(t)+x;

yi = R0*sin(t)+y;

LineHandler = line(xi,yi,'LineWidth',1,'Color',[.8 0 0]);
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%----------------------------------------------------

roimask = poly2mask(xi,yi, size(ph(:,:,1),1),size(ph(:,:,1),2));

bwi=double(roimask);

ki=sum(sum(bwi));

I1=zeros(1,sle);

for i=1:sle;

    imbw=bwi.*ph(:,:,i);

    I1(1,i)=sum(sum(imbw))/ki;
end

cftool
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��
����������

"����*��� #�*#��(����,
������&�#�
 

1. �#�0�*����
�*
��,����$�'
��,-
� �����'
��� (Inversion Recovery pulse sequence 

���� IR) 

.-	.����'�/��	�� �'*�"�

���� T1 �
����� TR = 10000 �$��$
$��!� ��� TE = 70 �$��$
$��!�
����
����� TI = 50, 75, 100, 200, 400, 800, 1600, 2000, 2400, 3600 ��� 4800 

�$��$
$��!� �
�� �!�" 17

������ 17 �#�0�*���� Inversion Recovery pulse sequence 
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2. �#�0�*����
�*
��,�����&��
��$'���� (Spin Multi echo pulse sequence) 
.-	.����'�/��	�� �'*�"�

���� T2 �
����� TR = 2000 �$��$
$��!� ����
����� TE = 15, 30, 45, 

60, 75, 90, 105 ���120 �$��$
$��!� �
�� �!�" 18

 
������ 18 �#�0�*���� Spin Multi echo pulse sequence
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3. �#�0�*����
�*
��,����
��$'!��,��3&
'���� (Multi Turbo Field Echo) 

.-	.����'�/��	�� �'*�"�

���� T2* �
����� TR = 2000 �$��$
$��!� ����
����� TE = 1.9, 5.1, 

8.4, 11.7, 14.9, 18.2, 21.5 ��� 24.7 �$��$
$��!� �
�� �!�" 19

������ 19 �#�0�*���� Multi Turbo Field Echo pulse sequence
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4. �#�0�*����
�*
��,���� ���'��'����'���� (Dual Gradient echo) 

.-	.����'�/��	�� �'*�"�

�����
�������"��'�������������'��/���
� ���'*�"�

�����
��
'���,'(/��,�
�� ��"��'�����0�* �
����� TR = 2000 �$��$
$��!� ����
����� TE = 10 ��� 13 

�$��$
$��!� �
�� �!�" 20

������ 20 �#�0�*���� Dual Gradient echo pulse sequence
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5. �#�0�*����
�*
��,����
�'�$����&�'���� (Double spin echo)

.-	.����'�/��	�� �'*�"�

�����
���
��
44�)0�*����
44�)���
� �
����� TR = 1000 

�$��$
$��!� ����
����� TE = 20 ��� 22 �$��$
$��!� �
�� �!�" 21

������ 21 �#�0�*���� Double spin echo pulse sequence
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����#�&��
�����

-�"�-����   �����
 +$�$*��) �
�5����


� '���� �9 '�$�  7 ������ 2528
���

�$���+1�5�  �9���+1�5� 2546  
     ���'�/����+1�5��
6��+1�5��������
    ���'������;�0�)��-
$!���
� *$5)����
     �9���+1�5� 2551
     ���'�/����+1�5���$44�
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